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NRHEEARFERFHSEE L 2 — (B M)
# B FEZE ATEETEEE 1R
I —fRIERRBAEEIE R OD &R
1. BEBEBOL
(1) BEUNEE
EARHEERAR 5, 224, 000 5, 224,000 0
AR EZIALS 5, 224,000 5,224,000 0
ZMaE 7, 800, 000 9, 300, 000 A 1,500,000
BB ASE 0 0 0
2N = 7, 800, 000 9, 300, 000 A 1,500, 000
EFUNE 150, 000 200, 000 A 50,000
e E 150, 000 150, 000 0
L& 0 50, 000 A 50,000
ZMHEE 119, 807, 000 121, 351, 000 A 1,544,000
ZHE 1B & 119, 807, 000 121, 351, 000 A 1,544,000
ZmMAIEE 14, 974, 000 18, 284, 000 A 3,310,000
ZmMEEE 14,974, 000 18, 284, 000 A 3,310,000
SZHFME 0 0 0
ZIEE 0 0 0
HUN I 1,000 1,000 0
ZEF| R 1,000 1,000 0
HEUR A 0 0 0
BRI 147, 956, 000 154, 360, 000 A 6,404,000
(2) BEEHR
- 137, 703, 000 142, 201, 000 A 4,498,000
1% B REN 2, 340, 000 2,531,000 A 191,000
HBHEFY 77,739, 000 77,812, 000 A 73,000
=od 2,288,000 3,203, 000 A 915,000
EHELE 14,177, 000 14, 294, 000 A 117,000
RERE 5, 285, 000 6, 698, 000 A 1,413,000
"’xeE 4,183, 000 4, 854, 000 A 671,000
HEMRE 2, 644,000 2, 320, 000 324, 000
=& 607, 000 837, 000 A 230, 000
BiEE 234,000 234, 000 0
NIl 8 A & 3,914,000 4,229, 000 A 315,000
PR¥E 60, 000 60, 000 0
SeEkE 605, 000 670, 000 A 65,000
S 5, 234, 000 5,021, 000 213, 000
HsE 11, 930, 000 11,981, 000 A 51,000
REEH 118, 000 120, 000 A 2,000
=Eick o 145, 000 135, 000 10, 000
e 1,720, 000 1,995, 000 A 275,000
SEEHE 3,721,000 4, 285, 000 A 564,000
NFRNE 759, 000 922, 000 A 163, 000
EIHE 14, 137, 000 15, 110, 000 A 973,000
1% B REN 2, 560, 000 2, 688, 000 A 128,000
BHEFY 4, 950, 000 4, 890, 000 60, 000
BHELE 1,373,000 1,372,000 1,000
RERE 480, 000 515, 000 A 35,000
"’EE 1,335,000 1,698, 000 A 363,000
HEMSRHRE 0 0 0
HERE 937, 000 1,484, 000 A 547,000
=& 40, 000 80, 000 A 40,000
NIl 84 A 2 440, 000 440, 000 0
g ER = 133, 000 133, 000 0
SeEIkE 600, 000 660, 000 A 60, 000
& 920, 000 791, 000 129, 000
e 0 0 0
RE&EH 59, 000 59, 000 0
=Eik 310, 000 300, 000 10, 000
BiEE 0 0 0
BEER 151, 840, 000 157, 311, 000 A 5,471,000
e S AT L R B RS A 3,884,000 A 2,951,000 A 933,000
ST fiiE 2 % 5t 0 0 0
L H R RS A 3,884,000 A 2,951,000 A 933, 000
2. BENMEBOE
(1) #BEHNINE
BENIREE 0 0 0
(2) BENEH
BRENER 0 0 0
LERRRE 4 R A 0 0 0
4 HA — A% IF Kk B 2 1R 4E A 3,884,000 A 2,951,000 A 933,000
— R IFRBIE B ES 357, 180, 985 360, 131, 985 A 2,951,000
— AR IFLRBAEE AR A S 353, 296, 985 357, 180, 985 A 3,884,000
I 157 EKEEEBOER
L HA¥E T 1F bk B 1R AE 0 0 0
IEEFHREEREES 0 0 0
IEEFREMERERES 0 0 0
I FKREIEHRRES 353, 296, 985 357, 180, 985 A 3,884,000
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AHUBEEARTERFURMKE L 24— (B M)
i) = FEEE BIEEFPEEE 1B R i B (6L : M)
I —ARIERREBAEEIBR D ED
1. BEBROI
(1) IR
HAKREERS 3,767,000 3, 714, 000 53, 000
ERBEZIF R 3,767,000 3,714,000 53, 000
TMEE 3,120, 000 3, 720, 000 A 600, 000|ZE=#& (3,120)
EHhEEARS 0 0 0| MBEALE@3 000x2 000 x0.4 2, 400
BHWRER 3,120, 000 3,720, 000 A 600,000] EALE630,000x60i%A x0.4 720
FEINE 150, 000 200, 000 A 50, 000(F=x % (150)
i B 150, 000 150, 000 0| TARFEHEEZFEETI50/420088 150
LEF 0 50, 000 A 50,000
TMHEMESE 96, 722, 000 98,116,000 A 1,394, 000|R&+#E= (96, 722)
TWMEwMbE 96, 722, 000 98,116,000] A 1,394,000 {EMRAYVAEY BESEE 4,596
ZHEEE 14, 974, 000 18,284,000f A 3,310,000 £EREREEHUZSNEZE 5,087
TMaEE 14, 974, 000 18,284,000 A 3,310,000] =E#EEHLSSMEESEE 45,230
SZIEME 0 0 0| AlZE 41, 809
ZETE 0 0 0|2mans (14,974)
U 2E 0 0 0| S=—7XRFEBEH 14, 474
SZEH R 0 0 0| EMRAvAEYs RE—YRRASEMESES 500
HEUR2E 0 0 0
REUNEE 118, 733, 000 124,034, 000] A 5, 301, 000
QREEH
BxE 122,617, 000 126, 080, 000] A 3,463, 000|Z#HS<Y - a—FT 14— +OHBEA DI YEE
=0 1, 560, 000 1, 688, 000 A 128,000 fiEsminttEg (3, 889)
WBHEFSH 69, 900, 000 69, 976, 000 A 76,000 BRERITESE 3,739
=k 2,135,000 3,050, 000 A 915,000 ¢ EES 150
BIELEE 12, 524, 000 12, 639, 000 A 115,000
WREXBE 5,210, 000 6,548,000 A 1,338,000 E@pisx (47, 704)
"BE 3,625, 000 4,254, 000 A 629,000 oA —XEEENEE 1,500
HERE 2,551,000 2,221,000 324,000 WENEPEFEHSEREDRIESEE 774
RiE 587, 000 797, 000 A 210,000 BEREYEESRBEESE 200
BEE 234, 000 234, 000 0 BREMESMEESEE 45,230
RIS A& 3,825,000 4,067, 000 A 242,000
PAFE 60, 000 60, 000 O|AD<K Y=E
FEKE 605, 000 670, 000 A 65,0000 AMBEmSBZE (46, 692)
EEn 5,129, 000 4,717,000 412,000 EHFR-_TREEEEH 46, 692
E ik 11, 930, 000 11, 981, 000 A 51,000
REEH 118, 000 120, 000 A 2,000|#mES<Y - RESC UEE
=kikd 145, 000 135, 000 10,000 #egesE% (10, 183)
wWEE 1,720, 000 1,995, 000 A 275,000 EMtaA Y AXXILERF 2,066
SEEEBE 0 0 0 BMEFERE 1,133
[N RN 759, 000 922, 000 A 163,000 AR—YRFTKRE 1,897
BEER 122,617, 000 126, 080, 000] A 3, 463, 000 SEREEUASEFRESE 5,087
e FRERAI LR EEEEY A 3,884,0000 A 2, 046,000f A 1,838,000
EifiEn e 0 0 0| AREMBELHHE (14, 149) 14,149
LHRRE AR A 3,884, 0000 A 2,046,000f A 1,838,000
2. BESMEBFOR
(1) BENIRE
BRI 0 0 0
(2) BENER
BENERE 0 0 0
LEAREIMERAE 0 0 0
WHA—ARIERREA S} A 3,884,000 A 2,046,000 A 1,838,000
—ABIERRBAEHAE 55| 230, 410,249| 232,456,249 A 2,046, 000
—ABIERRBAEHAKGR| 226,526, 249] 230,410,249 A 3,884, 000
I {5 IERREAEELE R D ER
L HAYE E IE LR BA EE 1 0 0 0
IEEERBIERER 0 0 0
Y5 7€ IE LR BA EEEAR 5% 0 0 0
I EKREAEERES 226,526,249 230, 410,249 A 3,884,000
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NEMHEARFERFUHSHARE L 27— (B )
Bl B FHEE AEETELE 1 i BA (B - FH)
I  —ARIEGREAEIEBDER
1. BEERO
(1) BE I
HARMEERLE 679, 000 744, 000 A 65,000
HEARBEZIF R 679, 000 744,000 A 65,000
ZWMEE 4,680, 000 5, 580, 000 A 900, 000|=zms#E (4, 680)
BEWREARS 0 0 0| EA£E63.000x2 000Ax0.6 3, 600
BEWRERE 4,680, 000 5,580, 000 A 900,000 % A£E630,000x603kA 0.6 1,080
= g 0 0 0
B 0 0 0
[L&E# 0 0 0
SHHEMESE 9,727, 000 9,797, 000 A 70,000| 2 &#B2 (9, 727)
ZHR RIS 9,727,000 9,797, 000 A 70,000 Az 9,727
SHREEE 0 0 0
SHEEE 0 0 0
SHEME 0 0 0
SZHEE 0 0 0
MU ZE 0 0 0
SZHF A 0 0 0
MU 2E 0 0 0
BEINIEE 15, 086, 000 16,121,000 A 1,035,000
2. BREEH BHOCYSE
EXE 15, 086, 000 16,121,000 A 1,035 000 =HTRELE (159)
% B BN 780, 000 843, 000 A 63,000 LREREE 59
HBHFY 7, 839, 000 7, 836, 000 3, 000 R—LR—CEEEE 50
& 153, 000 153, 000 0 REEE 50
BIELEE 1,653, 000 1, 655, 000 A 2,000
WREXBRE 75, 000 150, 000 A 75,000|#H@S<Y - ESC YSEE
"BE 558, 000 600, 000 A 42,000 EEEEEEs (4, 680)
HERE 93, 000 93, 000 0 EMEEEE - B EERE 840
=3 20, 000 40, 000 A 20,000 HWREHSEEERTEE 1,645
BREE 0 0 0 HWXENEER BB EEEE 119
ENR S AR E 89, 000 162, 000 A 73,000 BMEE N —TEHXIESE 1,826
PAF & 0 0 0 BHLEI N — T LTRSS E 250
SeEKkE 0 0 0
B 105, 000 304, 000 A 199,000 HEFELLHELE (10,247) 10,247
Etik 0 0 0
Rz 0 0 0
=Fi=kd 0 0 0
wWEE 0 0 0
SBiEEE 3,721,000 4,285, 000 A 564,000
AN 0 0 0
BEER 15, 086, 000 16,121,000 A 1,035,000
e FRE LSRR R 0 0 0
S8 25 % 5t 0 0 0
LR R A 0 0 0
2. BEIMERDER
(1) #BENIRE
BE NIRRT 0 0 0
(2) BENER
BEsNER 0 0 0
LHRE S SRR 0 0 0
L1 — AR IE R BA PE 1 0 0 0
— AR IERBIEH E % 75,138, 797 75,138, 797 0
— R IEBRBA EEHA R % 75,138, 797 75, 138, 797 0
I 5FIEKREAERBOI
L HAYE E IE LR BA EE 1 0 0 0
IEEERB ES e % 0 0 0
Y8 % IE R BA EEH R 7% 0 0 0
I ERMEHRES 75,138, 797 75, 138, 797 0



mailto:個人会員@3,000×2,000人×0.6

P

SHM3E 48 1EMSHEM4E 3HIIEET

NHEHFEARFERFUHRAR L — (BfE: M)
(S | FHER AIEETHEEE B O (M : FA)
I —ARIERBAEIZB O
1. BEEEROE
(1) FBEINEE
AR EERLT 778, 000 766, 000 12,000
EXRMEZIFR 778, 000 766, 000 12,000
ZH=E 0 0 0
EHEEARS 0 0 0
UES=ES 0 0 0
EXINE 0 0 0
BEET R 0 0 0
L& 0 0 0
SHHERESE 13, 358, 000 13, 438, 000 A 80, 000|R&wHas (13, 358)
SHREHME 13, 358, 000 13, 438, 000 A 80,000 w=mE 6, 254
SHREEE 0 0 0| A& 7,104
ZHAES 0 0 0
SZWFGE 0 0 0
SZREME 0 0 0
MR 2E 1,000 1,000 0
ZEFIR 1,000 1,000 0
MU 2E 0 0 0
BRI 14,137, 000 14, 205, 000 A 68,000
2. BEER
EHE 14,137, 000 15, 110, 000 A 973,000
=E:0| 2, 560, 000 2, 688, 000 A 128,000
HwHFLY 4,950, 000 4,890, 000 60, 000| &=z (14,137)
BRELEE 1,373,000 1,372,000 1,000 &m#&E 6, 254
WRERXRE 480, 000 515, 000 A 35,000] EAREHt 7,883
®HE 1, 335, 000 1, 698, 000 A 363,000
HEMSRERE 0 0 0
HERE 937, 000 1,484, 000 A 547,000
=& 40, 000 80, 000 A 40,000
RIS A& 440, 000 440, 000 0
PR E 133, 000 133, 000 0
SeEIKE 600, 000 660, 000 A 60,000
EfEw 920, 000 791, 000 129, 000
He 0 0 0
RE&H 59, 000 59, 000 0
=k 310, 000 300, 000 10, 000
EiEE 0 0 0
REER 14,137, 000 15, 110, 000 A 973,000
ST 18 205 2 R B A 2 A AR S 18 IR 0 A 905, 000 905, 000
FFlE I 5t 0 0 0
L B4R MR 4E 0 A 905, 000 905, 000
2. BENMERDIR
(1) #BEHIREE
FEINIREEET 0 0 0
(2) BENER
BENER 0 0 0
LRI ME RS 0 0 0
L HA— AR IE BREA EEHE 0 0 0
—RRIELRBFEEHARS5%]) 51,631,939 52,536, 939 A 905, 000
— R IERRBAEERARIR] 51,631,939 51,631,939 0
I $5FIEREIEZBOI
L HAYE TF IE LR BA EE 1) 0 0 0
B EREA R B T 0 0 0
& 7€ 1E BR B4 72 1 R 5% 0 0 0
I EREAEEIRES 51, 631, 939 51,631,939 0




